THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE
PROPERTY OF SIFORIA. ANY REPRODUCTION IN PART OR

AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF

SIFORIA IS PROHIBITED.

Ground Anchor Plate
15mm, Steel

Hex Bolt M16x30
DIN933 A2

Lock Washer M16
DIN9250 Type S A2

Washer 65x17x6mm A2

Hex Bushing A2

Ground Anchor
50x1000mMm, M16 head

Pcs: .I Part Name:

esigner: . ssembly Name: .
P Mike e Foundation

Ia Project:
golar

(J
2Y

Heliomotion

o Be
% 2

Q, o'
LY
Olartech

Ground Anchor Attachment

Hex Bolt M16x60
DIN933 A2

Flat Washer M16
DIN125 A2

Nyloc Nut M16
DIN985 A2

Material:

Steel

Scale: -l :5 View:

Version: -|

Part Number:

0300



	Balk Clamp
	Drawing View1
	Drawing View2
	Drawing View11
	Drawing View12


